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MURURIA  SECONDARY SCHOOL

FORM 2  PHYSICS TUNE UP EXAM    TERM 3  2014 
NAME: ……………………………ADM.NO. …………CLASS:……
Answer all questions.

1.  The total weight of a car with passengers is 25000N.  The area of contact of each of the four tyres with the ground is 0.025m2.  Determine the minimum car tyre pressure.  3 mks 

2.  Give a reason why water is not a suitable liquid for use in a barometer.  1 mk

3.  A current of 0.08A passes in a circuit for 2.5 minutes.  How much charge passes through a point in the circuit.  3 mks 

4.  State the purpose of manganese dioxide in a dry cell.  1 mk 

5.  The figure below shows a uniform bar of length 1m pivoted near one end.  The bar is kept in equilibrium by a spring balance as shown.
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Given that the reading of the spring balance is 0.6N.  Determine the weight of the bar.  3 mks

6.  State two ways of increasing the force on a coil.  2 mks

7.  A girl standing 600m away from a cliff bangs two pieces of wood together and hears an echo 3.5 seconds later.  Determine the speed of sound in air at that place.  3 mks 
8.  a.  Two identical springs of spring constant 3N/cm are used to support a load of 30N as shown.  Determine the extension of each spring.  2 mks 
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b.  State two factors that govern the strengths of a spring of a given material.  2 mks 

9.  An empty density bottle has a mass of 25g.  Its mass is 50g when full of water of density 1 g/cm3 and 45g when full of paraffin.  Determine the density of paraffin in kg/m3.  3 mks
10.  Explain why there is a big difference between height of water and mercury column that can be supported by atmospheric pressure.  2 mks

11.  The air pressure at the base of a mountain is 75 cm of mercury while at the top it is 60cm of mercury.  Given that the average density of air is 1.25kg/m3 and the density of mercury is 13600kg/m3.  Calculate the height of the mountain.  3 mks 

12.  The following readings were obtained in an experiment to verity hooke’s law using a spring balance. 

	Force (N)
	0.5
	1.5
	2.5
	3.5

	Extension (m)
	0.06
	0.08
	0.10
	0.12


a.  Plot a graph of force against extension.  5 mks 

b.  Determine the spring constant from the graph.  2 mks 
c.  From your graph determine the force for extension of 0.112m.  1 mk

d.  State whether the spring obeys ohms law.  1 mk 

13.  State two factors which determine the magnitude of a force exerted on a current carrying conductor placed in magnetic field.  2 mks 

14.  In an experiment to estimate the size of a molecule of oil, a drop of volume 0.14mm3 was placed on water surface and spread into a patch of 6.4 x 104mm2.  Estimate the size of a molecule of oil.  3 mks

15.  The figure below shows an instrument for measuring length.
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a.  Name the instrument shown on the figure above.  1 mk

b.  Name parts A – E.  5 mks 

c.  Give the function of part A and E.  2 mks 

d.  Name scales X and Y.  2 mks 


